51. The name of process of aerobic respiration, in which energy in provided in steps in electron transport chain, is

(a) EMP-pathway (b) decarboxylation

(c) photophosphorylation (d) oxidative phosphorylation

52. Asthma is caused due to

(a) infection of lungs (b) infection of trachea

(c) bleeding into pleural cavity (d) spasm in bronchial muscles

53. A person breathing normally at rest, takes in and expels ap¬proximately half a litre of air during each respiratory cycle. This is called

(a) tidal volume (b) vital capacity

(c) inspiratory reserve volume (d) expiratory reserve volume

54. The Largest quantity of air that can be expired, after maxi¬mal inspiration, is called

(a) tidal volume (b) vital capacity

(c) residual volume (d) total lung volume

55. Rate of heart beat is determined by

(a) AV-node (b) SA-node

(c) Purkinje fibres (d) papillary muscles

56. The first heart sound is produced when

(a) diastole begins

(b) semilunar valve close quickly

(c) interventricular pressure decreases

(d) bicuspid and tricuspid valve close quickly

57. Which of the following layer of heart wall consists cardiac muscles ?

(a) endocardium (b) myocardium

(c) epicardium (d) all of these

58. If heart beats 75 beats/min then what is time for cardiac cycle ?

(a) 0.5 sec (b) 0.8 sec

(c) 1 sec (d) 1.5 sec

59. Blood pressure increases and heart rate decreases in response to

(a) exercise (b) haemorrage

(c) exposure to high altitude (d) increased intracranial pressure

60. ‘P’ wave of ECG occurs before the

(a) onset of ventricular ejection

(b) end of arterial contraction

(c) begining of atrial contraction

(d) none of these

61. Liver in our body stores

(a) vitamin-A (b) vitamin-D

(c) vitamin-B12 (d) all of these

62. Secretin hormone is secreted by

(a) liver (b) pancreas

(c) intestine (d) Brunner’s glands

63. The contraction of gall bladder is due to

(a) gastrin (b) secretin

(c) cnterogastrone (d) choiecystokinin

64. Which of the following is the character of the bile juice?

(a) it has trypsin (b) it has no enzyme

(c) it has cnterogastrone (d) it has tripophnomide

65. Average pH of human urine is

(a) 60 (b) 90

(c) 30 (d) 70

66. Cells present is the inner lining of kidneys are

(a) podocytes (b) choanocytes

(c) pinocytes (d) nephrocytes

67. Which of the following is impermeable to water?

(a) vertical limbjof loop of Henle

(b) descending limb of loop of Henle

(c) ascending limb of loop of Henle

(d) both V and ‘b’

68. Ducts of Bellini are present in

(a) liver (b) kidney

(c) intestive (d) medulla oblongata

69. Human brain has greater development of

(a) cerebrum (b) cerebellum

(c) optic lobes (d) medulla oblongata

70. The ‘end organs of Raffini’ are receptors of

(a) heat (b) cold

(c) pressure (d) touch

71. Which of the following part of human brain is associated with integration of sympathetic and parasympathetic activities ?

(a) cerebrum (b) neopallium

(c) hypothalamus (d) medulla oblongata

72. The unidirectional transmission of a nerve impulse through nerve fibre is due to

(a) neurotransmitters are released by axon endings

(b) neurotransmitters which are released by dendrites

(c) nerve fibre which is insulated by a medullary sheath

(d) sodium pump which starts operating into the nerve fibre

73. In the myopia eye defect, the rays of light

(a) do not enter the eye at all

(b) meet at a focus in front of the retina

(c) come to a focus at back of retina

(d) come to a focus in between retina and iris

74. Sensory receptor of warmth located principally at the tip of fingers in known as

(a) Weber’s organ (b) organ of Giraldes

(c) Ruffini’s corpuscles (d) organ of Zuckerkandl

75. Hormones secreted by pancreas are

(a) ACTH (b) oxytocin

(c) LH and FSH (d) insulin and glucagon

76. Neurohypophysis secretes

(a) ADH and oxytocin (b) oxytocin and estrogen

(c) vasopression and GH (d) vasopressin and estrogen

77. Secretion of androgens by testis is regulated by

(a) LTH (b) FSH

(c) ICSH (d) oxytocin

78. Pancreatic duct of a healthy dog is blocked. Which of the functions of pancreas will not be affected ?

(a) protein digestion (b) carbohydrate digestion

(c) neutralization of chime (d) maintenance of normal blood sugar level

79. Physiologically active thyroxine exists in which of the follow¬ing form?

(a) unbound (b) bound to albumin

(c) bound to globulin (d) all of these

80. A flower characterised by monadelphous tubular stamens belongs to

(a) Solanaceae (b) Liliaceae

(c) Malvaceae (d) Brassicaceae

81. In Musa, inflorescence is

(a) spadix (b) corymb

(c) capitulum (d) polychasial cyme

82. The formation of gametophyte, from sporophyte, without spore formation or without meiosis is known as

(a) apospory (b) apogamy

(c) pathenogenesis (d) none of these

83. Ancmophillous flowers have

(a) sessile stigma (b) small and smooth stigma

(c) coloured-flower (d) large and feathery stigma

84. In oogamy, fertilization involves

(a) a small non-motile, female gamete and a large motile male gamete

(b) a large motile female gamete and a small non-motile male gamete

(c) a large non-motile female gamete and small motile male gamete

(d) a large non-motile female gamete and a smal non-motile male gamete .

85. In angiosperms, triple, fusion results in the formation of

(a) zygotic nucleus (b) polar nucleus

(c) secondary nucleus (d) primary endosperm nucleus

86. During a woman’s life time, she produces about

(a) 40-50 eggs , (b) 300-350 eggs

(c) 400-500 eggs (d) 750-850 eggs

87. The production and maturation of sperm in testis is known as

(a) oogenesis (b) sporogenesis

(c) gametogenesis (d) spermatogenesis . :

88. The phase of menstrual cycle is humans that lasts for 7-8 days, is

(a) menstruation (b) luteal phase

(c) ovulatory phase (d) follicular phase

89. Which one of the following statement with regard to the em¬bryonic development in humans is correct ?

(a) cleavage division results in a hollow ball of cells called morula

(b) cleavage in mammalian ova is unequal holoblastic and horizontal

(c) rearrangement of blastomeres, acentral cavity is formed inside the morula

(d) cleavage divisions bring about considerable increase in the mass of protoplasm

90. The most accepted theory of ageing is

(a) less RBC in blood

(b) thymus gland becomes non-functional

(c) brain cells die with ageing

(d) all of these

91. Which of the following is not immunised by triple. antigen ?

(a) typhoid (b) tetanus

(c) diptheria (d) whooping cough

92. A person with the sex chromosomes XXY suffers from

(a) Down’s syndrome (b) Turner’s syndrome

(c) gynandromorphism (d) Klinefelter’s syndrome

93. Which of the following represents Klinefelter’s syndrome ?

(a) XX (b)XO

(c) XY (d) XXY

94. Which is the closest pet of human being ?

(a) cat (b) cow

(d) dog (d) buffalo

95. The bacterial disease which is a found in chickens, is

(a) rickets (b) ranikhets

(c) fowl fox (d) fowl cholera

96. Which of the following is viral disease in silkworm ?

(a) flacherie (b) grasserie

(c) muscardine (d) pebrinc

97. Which of the following is not the example of marine fishes ?

(a) Labeo (b) Mugil

(c) Hilsa (d) Sardines

98. Reproducing new plants by cells, instead of seeds, is known as

(a) mutation (b) antibiotics

(c) biofertilizer (d) tissue culture

99. Creosote is used to prevent

(a) rusts of wheat (b) dry rot of wood

(c) loose smut of oats (d) brown rust of barley

100. Which of the following insecticide is obtained from the roots of Denis elliptica ?

(a) cinerin (b) nicotine

(c) rotenone (d) pyrethrum
